(/’j‘

(eLHRHOgGE MIJOHH3da80Y ou)
daHMHM YiaHgeL |

(7= N — BL3hA BUEA OY elRerd 10 9M10BhA BH 9d3.L0U XIHENLEWdOH WOLahA D 0Jadg
uexy - T =93 19Wod yoHYowox [dALedaumwal YOHKIS>3WBHTRdD WOLahA D 0101y
80%eh 00’0 TYMNRALUD XiaHymdeSE KWadg
BE6'0S8E 000'0 b 6LS98LLEL £80°ZOLGET 00:€1 #1191
TEL'LORT 000°0 = 690" PUBEE] 2 C18+0945E | 0051 #1'60°67

DF 1 EnHeEed0] | red 1) L'pD) 1'en wen ¢ 170 eI 1o 11D kwada v L]y
IXIGHHRY BULKHD LHOWOW BH 0MURLRRD BUHEERNO] |
£9'66 £89'1¢ €TC'vSesL 788'S8¢7/ : bT0E adgs.io es otoiy
[A%°r4 SPT'8 9868181 €2T'2781 (+)ensdsu etiHox of okRoaodMIHAKdG
SE'pL on'n 00'0 00'o 8ES'ET 0000 LTT'SERS 000'0 654'85 0'8k9 0JOL
18/7 z/8'0 08’51 SOE'T0Z -|86'9E 7 -|91'20e -|58'25 -loo'vz | eentad)
19/'z 00’0 00'o z£8'0 9851 SOE'TO0Z - 86'0g - - 9/1'202 - 5875 - [2A P101°ZZ
T9'E 00’0 - 000 ZLBD 9g'sy = SDE'TOC B6'0F - - 941'20Z . $8'2S = T FIOT'TZ
192'2 00'n - 00'o 2480 98'sT E SOE'T0E = 96'0F < - 9/1'202 - 5825 - 3 b1'0T07
1947 00'o - 00’0 7/8'0 98'5T S0E'TOE - 86'0F = = 941202 - S8'es = [ bT'0T'6T
192°¢ oc'o = 00'n 7/8'0 98's1 - SDE'TOE - 86'9€ 4 2 941'202 e 5876 - 4 b1°01'87
1927 00’0 - 000 2/8'0 98's1 S0ET0Z = 86'0F . - 9/1'202 58'es - 7 bT0T'LT
SL6'7 00'0 = 00'0 £01'T ZH'b1 LE6'902 : 110k - = 0$0'807 - £5b5 5 4 #1'0T'91
S66'C 00'o z 000 8/6'0 T1'Z1 - ELL'tbe 84'BE S 104'8b7 - 69°05 - [ b1'0T'ST
£0B'Z 000 5 00'o 128'0 BE'TT - £5E'9pE 04'LE - - 881'4b¢ - 60’6 - e PTOT b1
8557 00'o - 00'0 8240 Ze'oT - 894462 : 80'/E : = 95b'BHT - [ 2 ¥Z PI'0T'ET
595'F 00’0 = 00’0 8490 LE'OT S52'4bT 3 b5'LE - = EE6'/PT - 16'4f E 7 $1'01°CT
BTb'z 00'0 E 000 2090 06'6 980'5HZ = 61'2E - - BRY'SHZ 5 60'7b - e PIOTTT
L5 0o0'n 00'o 1180 BE'TL POETRE BZ'8E = - SLT'ERE = £9'6Y - ¥z y1°0T'0T
BYT'E 00'0 0o'o 90’7 ET'ET - 696'THE 59'6E - - SOD'EFT - 84'2S - (24 FT0T'60
S97'c 00'o 00'0 050'T Sz'el - 70T'ike 85'6€ - - Z51'8bE - £8'25 4 $T'01°80
(i3 000 00D 9560 5871 5 T82'24C bL'BE < - LbL'ERE - 6815 (44 FI°0L'20
ZO1'E 00'o 00'n 7660 T2'ET = T86'6E2 - £2'8E : 5 £46'0bC $6'15 [ F1°07'90
L25'7 00'o 00'o £79'0 Zr'or S P ZHE LT'9E : e 1L0'Epe - 59'9 - (14 F1°'0T'50
959'¢ 00'0 - 00'n £p2'0 8511 - S85'622 - ¥S'E - 2 CEE'DEE - 216k = [ FT'0T40
918’z oo'o - 0o'o v88'0 TH'EL 2 8SE'01Z - (8'1E 5 = ZHE'TIE - 62'15 - v F1'0T'E0
016’2 00’0 - 00'0 £E60 651 - £58'661 - 8L'te = - $ER'00Z > LE'TS - v F1'0T'20
EL0'E 00'0 00'o 20’1 S5'pT 594117 ¥8'8E - E LE8'ZTZ - GE'ES - b b1'0T'T0
7eo'e 00'0 00'o 198'0 8L'bT S 806291 96'8¢ » E 69£'€9T - #L'ES - b7 $1°60'08
69¢'¢ 00’0 00'o £48'0 01'41 - TTE'EET SI'bE - bST'PET S2'15 - +Z $1'60°62
0Zk'z oo'o 00'0 0001 60'9€ 6EE'LS 59'1E BEE'8D - £2'49 = v ¥1°60'8Z
[4444 00'0 - oo'o 016°0 Lb'HE 82929 75'0E - - BES'BY = 86'b0 - %4 p1'60'42
1857 00°0 : 00'o 029'0 bR'EE z B9R'Ok - ¥9'67 = - BB Lt 3 g+'c9 - bZ $1°60'92

ued | HHOL HHOL HHOL HHOL o] e HHOL NJ,I'DJH =¥ o e | HHEOL W32 ¥ O,
o] J|IOp | 2859 | 2T op 1p fi(o} [43] Zd ZL [43]] 10 19 1d 1L ‘19§ | maek | eleff
tfosoduogAdL wianiedgn FosoduogAdL wwmoeroy
=51l =kl =€l =71 =1l =td =fd =¢d =Id  BUHOLBHE DINHLHEIDHOY
Lhofuen ) ='drdo Lol  daw/uey| ='thiod) LAa/1 ='¢h 2a1n) 1AfL ="t 1on SieAdIBH DUNIBhULYED
SWOEIH =Ddaln ='louxaln ='1H285) =105 ‘nfL ‘(oendd) wieddieH aiqHdosololy
=d>0810) =dd'0a1'xaL) ‘h/urex ] ‘(oendd) uneAdien aledoaom]j
=08.10 ="10U'X31D) ="LH38D) =10D ‘h/uex | ‘ieAdien aidHdosololy
(XU-TU)sZN-(BXU-TU)4 TW=D 10101 (BXUY-ZU)yZIN-(EXU-TU)4TW=D temme  :wivdoiue HI9HLBhoRd
miLuwol ] *d)
ogl wdundy
}39 ] 7-dL
SO-d1LILY 0b WSOEZVA ‘dL'Hiedgo
SO-dLLLY 0F WS0ETYA  "dL yhmoreroy
BUHBLaRYT ‘dgoady ‘dgoaduonda ). Xews) Ui daworoxoed

D 0=8x1 ot 1aHadeaou g1 A4 1adogudy) 19692 6N TH6-LLID :9UdLULOUNIag
Hiqdogitdi SITHHIUAOHELIL
oo 0D ‘2-1¢ umhegiad ‘1dAgdaisy|-iHen 1 | 1oadiy
BRHQAALXASTT :BUHBROILMTOL BWax) 1-70STE :dosoloy
0£/0§1 »uded. BHOVed 0JOMIE3H Z-DMK, 000 : LHOHOgY

Adigdasa -1He) asoowua] OvO 00L

PT0C 9d9BDIO0 BE E€1AA Wedogndl ol WHHSIGadIOLOLLSL 0 It Iohip




